A= dENS= 24 0 WS
M DEME A
ool IEWEMLIA B4 CERE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
WSt 79,426,785 62,995,759 16,431,026
= 26,851,700
[ 7,762,000
Il 5,974,000
= 38,839,085
nSAHF Ho 38,371,553 35,870,996 2,500,557
= 5,624,700
= 7,762,000
Jl 5,974,000
= 19,010,853
HSnsSAHlA efa 24,160,793 21,343,473 2,817,320
= 5,537,700
s 6,302,000
Il 5,974,000
& 6,347,093
WS MHIA JHA 1,474,213 406,840 1,067,373
201 &Bt23E | 2,450 2,450 0
01 AtR2teld] 2,450 2,450 0
olsus JEANHAZ =X 2,450
202 04| 20,800 29,750 A\8,950
01 =LHObI 20,800 29,750 A\8,950
osus 2d & NEEHIAE SXl=el 5,800
002 & =S E-AE As 15,000
308 NHXIEMSOIE 231,750 231,750
01 AXHHBSEES 231,750 231,750
O=Al UiXHHIE X3 231,750
403 AXIEMSA=201H 1,219,213 314,640 904,573
01 MHXIHHAZ2E X 1,219,213 314,640 904,573
OWATSIHEDIE 23 118,000
OHAl 8 A X 34,550
OB-EEA 845t 223,755
O=Al SAIISEXI £X 292,908
OALIE HAEFRE £X 150,000
OEAl =Xlal2t HE 400,000
MaHA SEx(21) 3,169,400 1,684,150 1,485,250
= 2,438,000
= 731,400
403 NXIHSKHE0lH 3,169,400 1,684,150 1,485,250
= 2,438,000
& 731,400
01 MHXIHHA=ZE X 3,169,400 1,684,150 1,485,250
OM&HA ZYEX 3,169,400
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= ALWS= SN RS
g WsdHy he
HRl: HSusSAdlA ga (CHe: &<l
A3 - 24 - M - GRA(3H) - NRAE - BES Ofl &4k %E% Hwus2
= 2,438,000
T 731,400
Sgussg SYEX(21) 1,622,400 657,800 964,600
= 1,248,000
= 374,400
403 MR HMSAH=0lH 1,622,400 657,800 964,600
= 1,248,000
& 374,400
01 AXISHA 22 & 1,622,400 657,800 964,600
OSguss+H &g 1,622,400
= 1,248,000
= 374,400
CAE nS22(338 =A)(=12) 917,764 909,550 8,214
Fas 351,000
= 566, 764
308 XXM SOIA 917,764 909,550 8,214
= 351,000
= 566,764
01 XN B ELS 917,764 909,550 8,214
OSUHEXS S LEAI(Al) 917,764
= 361,000
= 566,764
SEE NS (338 2A)(=2) 1,515,904 1,398,136 117,768
s 551,000
= 964,904
308 AFAIEHMISOIE 1,515,904 1,398,136 117,768
Fas 551,000
= 964,904
01 MAHHMBYEES 1,515,904 1,398,136 117,768
OSHEXS LEA(Z) 1,515,904
= 551,000
S 964,904
Al ZXEAARS (=) 327,600 288,600 39,000
= 327,600
308 XXM SOIA 327,600 288,600 39,000
= 327,600
01 HAHHBSEx= 327,600 288,600 39,000
O=IAIZRE XIZ 327,600
= 327,600
BARE a8 K& 379,412 276,408 103,004
308 AR M SOIE 379,412 276,408 103,004
01 HAHHBSEx= 379,412 276,408 103,004
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AR ANDER SN DED
I8 DERF
Hel: HSwnsSAHlA et (Gt ®S)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
| o=ie3 t=++g 19 379,412
ZEE SEUSHH 2T (013) 5,974,000 4,247,000 1,727,000
Il 5,974,000
307 212+01& 1,016,000 1,298,436 N282,436
Il 1,016,000
05 2I2tRIE S 1,016,000 1,298,436 N282,436
OZS0ISXNZHH &= 1,016,000
Il 1,016,000
308 MR EMS0IH 4,958,000 2,940,064 2,017,936
Il 4,958,000
01 XN B EES 4,958,000 2,940,064 2,017,936
OAZ SEuSsH 29 X2 4,958,000
pJ 4,958,000
2HE SEUSHH 2NA(ZER) 1,059,000 0 1,059,000
= 1,059,000
308 MR EHMSO0IH 1,059,000 0 1,059,000
= 1,059,000
01 XN B EEXS 1,069,000 0 1,059,000
OSgussH 23X 1,059,000
= 1,059,000
CAE NSZY(S3E HA)(=1) 2,730,000 2,730,000 0
[ 2,100,000
= 630,000
308 AR M SOIH 2,730,000 2,730,000 0
[ 2,100,000
= 630,000
01 AXHHBEELS 2,730,000 2,730,000 0
OTAE NERY(S2E HA) 2,730,000
= 2,100,000
[ 630,000
SEY NS (338 HiA)(=2) 4,290,000 4,290,000 0
[ 3,300,000
= 990,000
308 NHAIEHMISOIE 4,290,000 4,290,000 0
= 3,300,000
= 990,000
01 XN B EExS 4,290,000 4,290,000 0
O=Z8 NERL(S2E HA) 4,290,000
[ 3,300,000
= 990,000
ZBISXIA(=21) 655,000 175,889 479,111
= 419,000
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AR ANDER SN DED
I8 DERF
Hel: HSwnsSAHlA et (Gt ®S)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
S 236,000
403 AXIEHMSA=01H 655,000 175,889 479,111
= 419,000
[ 236,000
01 REXISHHIA =2 655,000 175,889 479,111
O&4HBISKIE 655,000
= 419,000
= 236,000
LdSWSIHE XA (=12) 46,100 11,100 35,000
= 46,100
308 NHXIEFMISOIE 46,100 11,100 35,000
= 46,100
01 AXHHBEELS 46,100 11,100 35,000
OgEuSIHE NH 46,100
= 46,100
H=sns MEXE 13,750,260 14,127,600 A377,340
[ 1,460,000
S 12,290,260
ANAHAZSAIY HE X 5,568,200 5,930,000 A361,800
307 elztold 5,568,200 5,930,000 A361,800
0 2rEHEES 5,568,200 5,930,000 A\361,800
OANJAHAZSAIE HE XIS 4,400,000
OAAHA 2=SAL 2200 HEX2 1,168,200
AU - SOHEHAZSAME HE XA 5,569,060 5,542,600 26,460
308 XXM SOIE 5,569,060 5,542,600 26,460
01 XN B ELS 5,569,060 5,542,600 26,460
OAL - SHEHASSAIYE MEXEA 4,900,000
OAIL - SOIEHA SABAX 220121
XA 669,060
HIcd EA24(20) 2,433,000 2,475,000 242,000
= 1,460,000
= 973,000
308 AXIHMSOIA 2,433,000 2,475,000 42,000
= 1,460,000
= 973,000
01 IXHHBELS 2,433,000 2,475,000 242,000
O =a2Y 2,433,000
= 1,460,000
S 973,000
QX SSEHA X 60,000 60,000 0
308 AHXIEHMSO0IE 60,000 60,000
01 MXHHBExS 60,000 60,000
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A2 ANDER SN DED
g ISotMEE A
HRlr WSoHNAIL =E (SH9: =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
WEHNAIE F= 2 HUIAY 700,000 72,000 628,000
403 TR SHMSKH=01H 700,000 72,000 628,000
01 AXIEHAZE X 700,000 72,000 628,000
OADIE wSAHHAIEE &£X 100,000
oRdds SHoU BEXEA 5 100,000
OAl ZARXNS WEMA HA 500,000
HEl0I2S 7S HEAE () (HEAIY) 1,526,000 780,000 746,000
401 Al HIZL R 0HI 1,526,000 780,000 746,000
01 Al&H] 1,526,000 780,000 746,000
OO0lBI0I25 7 JHH(HE) 1,526,000
HE 0I5 HEAIE (AIZ) (D EALY) 3,628,000 2,064,000 1,574,000
403 AXIEHMSA=01A 3,628,000 2,064,000 1,574,000
01 AXISHHA=EXE 3,628,000 2,054,000 1,574,000
ONB0IESTA HE(HE) 3,628,000
XXEA TS 2= X (=1) 21,308,800 7,680,000 13,628,800
= 19,977,000
= 1,331,800
403 MXIEMSA=201H 21,308,800 7,680,000 13,628,800
= 19,977,000
= 1,331,800
01 AXISHHA=2EE 21,308,800 7,680,000 13,628,800
OXIXtH 1TS 2= K& 21,308,800
= 19,977,000
S 1,331,800
2 s JACITS) JI=HE =8 8 200,000 0 200,000
207 A1IHE 200,000 200,000
01 A2EHH| 200,000 200,000
OZAT NSEWSHAHTS) JI2HE =~
g9 200,000
XA 284s 7= XA(=1) 1,250,000 0 1,250,000
= 1,250,000
403 MR EHMSH=0lH 1,250,000 0 1,250,000
= 1,250,000
01 AXISHHA=2EXE 1,250,000 0 1,250,000
O=&k 2435 F=IAMY K& 1,250,000
= 1,250,000
=XHEE HE ALY (HEFALY) 10,582,000 13,345,900 A2,763,900
403 AXIEHHSAH201H 10,582,000 13,345,900 A2,763,900
01 AXISHHA=2EXE 10,582,000 13,345,900 A2,763,900
OFxtetd e (Xt 10,582,000
LoIE8S7Y HEMS(E)(HEALY) 1,062,000 420,000 642,000
401 A2 HIYL SO 1,062,000 420,000 642,000
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A2 ANDER SN DED
g ISotMEE A
Bl NSCHNAIL &5 (S M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
01 Al&H] 1,062,000 420,000 642,000
LOIES 7Y Jfa(HE 1,062,000
LoI8S7 HEA (A2 ) (D EALY) 765,000 145,000 620,000
403 X SHMSEXH=01H 765,000 145,000 620,000
01 AXISHHA2E 2 765,000 145,000 620,000
OL=QES 7R I (HE) 765,000
HY2HAH (S 33,432 31,863 1,569
J1=dHl 33,432 31,863 1,569
FAE2E Jl=EHl 33,432 31,863 1,569
201 Zet2a| 23,676 22,449 1,227
01 AlR2telbl 23,676 22,449 1,227
SNE2E ARl 23,676
202 Ol 6,156 5,814 342
01 =LA LI 6,156 5,814 342
OFMEZ =0 6,156
203 =& 3,600 3,600
4 FAESEF=2 3,600 3,600
©20¢e! Olat 300,000& x 12 3,600
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